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Converting all values to hexadecimal gives
F12315 - 7816 - 5315 = F05515
Converting to binary gives 1111 0000 0101 0101

[EEN

. 1111000001010101

Simplifying each term gives:
RCIRC-2 11000 = 00110
LSHIFT-1 01100

00100 XOR 11000 = 11110

N

. 11110

Let X = abcde

00101 AND abcde = 00c0e

01010 OR 00c0Oe = O1cle

RCIRC-3 01cle = c1e01

cle01 =11001 impliesa=*,b=*c=1,d=+*,e=0
+x1+0 gives 2° or 8 unique solutions

4. (ABC)(AC) = (A+B)(C)(AC)= ACAC + BCAC = AC + ABC =

AC(1+B)= AC

g |

5. Let X= AB, Y=CB, Z= CB+A, W= C+(CB+A)

AIB|C|X|Y |Z|W NOT XD
w NOT W
0|0|0]O0O]0O]0O]|O 1 1
0|0(1]{]0|0]|0]|1 0 0
0]1/0]0|J0]0]O0 1 1
O|1|1|]0]1]1]1 0 0
1/0/0J0]0|1]1 0 0
1/0/1]0]0]1]1 0 0
1/1/]0/1]0|1]1 0 1
1]1]1]1]1]1]1 0 1

o1

. (0,0,0), (0,1,0), (1,1,0),
(1,1,1)



